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General Instructions :

Preparatory Course in General Mathematics (Revised) (OMT-101) Questions 1 - 50

(1) This is an objective type question paper. Options for the correct answer must be
marked only in OMR sheet.

(it) All questions are compulsory.
(i) The question paper consists of 50 questions each of which carries one mark.

(iv) Each question has four alternatives, one of which is correct. Write the Sl. No. of your
correct alternative /answer below the corresponding question number in the OMR sheet
and then mark the rectangle for the same number in that column, If you find that none

of the given alternatives is correct then, write 0 and mark in column 0.

(v) Do not waste time in reading the whole question paper. Go on solving questions one by
one. You may come back to the left out questions, if you have time at the end.

(vi) Use of calculators is not allowed.
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The Roman numeral for 61 is

1) IXL (2) XLI
(3) LXI 4) LKX
The number of factors of 28 is

1) 4 (2 5§
3) 6 4) 7
The number of prime numbers less than 10 is

(1 2 (2 3
3 4 4) 5
a+b-c+d is not equal to

(1) (@+b)—(c+d)

(2) a+(b-c+d

3 (a+b-o+d

(4 a+(b-c+d

100 + 4{25 + {3 + 12-10}] =

(1) 125 (2) 132

3 b5 4 -132

The algebraic expression used for “6 times x subtracted from 40” is
(1) 6x-40 (2) 40x-6

(3 6-40x (4) 40-6x

How many one-fourths need to be added to 2% to make it 4 ?
1) 3 (2) 4
3) 5 4 7

The sum of 3 tenths and 5 thousandths is
(1) 00305 (2) 0-3005
(3) 0-305 (4) 0315
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1. ©&T 61 % fu (ma qeams B

1) IXL @ Xu

3) LXI » 4) LIX
2. 28%?@“@3@#@%

1 4 | @ 5

3 6 @ 7

3. 109 B AW TEARA I TS 3
1 2 @ 3
3 4 : @ 5
4. a+b—c+d fras sUR 777 2 ?

D (a+b)—(c+d)
2) a+(b-c)+d
3 (a+b-c)+d
4) a+(b;c+d)

5. 100+ 4[25+ {3+12-10}] =
(1) 125 | @) 132
@ 5 4) -132
6. “40% ¥ x 1 671 HeAT % fIC g i e @
(1) 6x—40 | 2) 40x—6
(3) 6-40x (4) 40-6x

7. 'ziﬁmﬁmﬁma\gaﬁﬁmmm?

1 3 2 4
(3) 5 @ 17
8. 3zEEal I 5 gt @ AT B 2
(1) 0-0305 (2) 0-3005

(3) 0305 4) 0315
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9. There are 18 girls in a class with 35 students. The ratio of the number of boys to the
number of girls is

(1) 18:17 ‘ (2) 17:18
3) 35:17 (4) 18:35
10. The mode of the data 3,2,6,2,4,8,9,6,3,4, 3 is
(1) | 2 2 3
3 4 ' 4) 9
11. The' tenth term of the sequence 4,-1,-6,-11, ... is,
(1) -45 2 -41
3) -37 | @ -3
12. Which one of the following points lie in the 3™ quadrant ?
(1) (4,6) ’ (2) (-1,-2)

3) (-4,5) 4) 4,-3)

13. In an experiment, a coin and a die are thrown simultaneously. Then which of the
following outcomes is not possible ?

1 H,49) 2 (T,1

@) H,D 4) (T,6)
14. An angle of measure 179° is

(1) Acute |

(2) Right

(3) Obtuse

(4) Reflex
15. The ratio of 4 minutes to 2 hours is

1 2:1 (2) 1:2

@ 30:1 , 4) 1:30
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10.

11.

12.

13.

14.

15.

35 ot 1 T 18 wrRRal & | e ofv ol ) Sl F oI 2

(1) 18:17 (2) 17:18

(3) 85:17 ' (4) 18:35
Ithel 3,2,6,2,4,8,9,6,3,4,3 H GGIH 8

n 2 2 3

@) 4 | @ 9

S 4, - 1,— 6, 11, ... I THAT 9 &

1) -45 @ -41
3) 37 ' @) -33
PR & & - T fg et wgate § o 2 2
W 46 | ® 1,-2)
(3) (4,5 o @ 4,-3)
T T H, wﬁmaﬂtwwwmﬁ#mﬁ%laﬁtﬁr&ﬂaﬁﬁaﬁqmqﬁm
e T R ?

1 M4 | @ (T,
@) H,D | 4 (T,6)
179° W19 1 IV Bl B

(1) = B

(2) THHI

(3) it Hi

(4) F&4 B

4 fire oflt 2902 &1 IUE @

1 2:1 (2 1:2
3 30:1 | 4 1:30
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16.

17.

18.

19.

20.

21.

The distance (in cm) covered by a wheel of diameter 35 cm in one revolution is

(1) 70n (2) 35m
@) 5n @) %?n

x% of one-third of z is

1) é%% @) f%%
@ = @ 2
If —g + % ‘= 6, then the value of a is

1 122 . 2) -16
@) 16 | @) 10

In the figure given below, the measure of ~ CDE is

B
40°
C
70°

. 60° R

F A D >E
(1) 60° (2 90°
(38) 50° . (4) 40°

For which value of a, is the number 5 not a rational number ?
a

1) 4 @2 -1
3) 3 4 5

The sum of the number of faces and edges of an octahedron is

1) 10 2 18
3) 20 4) 14
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16.

17.

18.

19.

20.

21.

35 Aft =T F IR g U wae § 9 Y T gt (Th ) @

1) 0= (2) 35mn

3 5 @ 32
2

2% TR 1 x% 2

) 5’% @ o5

@ =X @ 2

100z XZ

e, 2_p R} MaFAME

8 4
1 122 @2 -16
(3) 16 4) 10
$= g mu fm #, £ CDE %1 9@ 3

B

40°
C
70°

. 60° .

S A D >E
1) 60° 2 90°
(3) 50° (4) 40°

a 3 o Tt % o, e 2 o i dem 7 & 7
1 V4 @ -1
3) 3 4 5
FATHAH F BB I YA H T F ATHA 8
(1 10 @) 18

3) 20 ' 4) 14
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22,

23.

24.

25.

26.

The sigma notation for the sum 1.3 + 3.5+ 5.7+ 7.9 is

4

(1) Z 2k -1 2k +1)

k=1

The maximum temperature of Shimla on a particular day was 18°C, while the
minimum temperature on the same day was — 3°C. By how much did the temperature
fall ?

(1) 15°C (2) 21°C

3) -15°C (4) -16°C

If the volume of a cube is 1000 cm3, its side (in cm) is
(1) 100 (2) 1000

3 1 4) 10

The degree of the polynomial 5x5 — 6x3 + 9x2 + x7 is
1 7 (2 5

3 1 4) 9

If (x3+kx?+1)+(x2+4)=x3+2x2+5, then the value of k is
1 3 2 1

3 -1 4) 2
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22. ATHA 1.3+3.5+57+7.9% Rwfrmera 3

23, fre fady feq W Rmen &1 tfteran AHM 18°C o, aaﬁ;zsﬁ%awm 3°C
o7 | qwE Reaan = g 2

(1 15°C | ©) 21°c

3) -15°C 4) -16°C

24. IR TH TF &1 ARG 1000 A3 ], A 3EH 3w (& H) R

(1) 100 : (2) 1000

@) 1 (4 10

25. WEYG 5x5 — 6x3 + 9x2 + x7 1 UM 8
7 @ 5

3 1 4 9

26. R (B+kl+1)+x2+4)=x3+2x2+5 8, MLH A 3
1 3 @ 1
3 -1 @ 2
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27.

28.

29.

30.

31.

32.

Which of the following statements is not true ?

(1) Two circles with same radii are congruent.

(2) Two squares with equal sides are congruent.

(3) Two triangles with equal correspbnding sides are congruent.

(4) Two right triangles are congruent.

5042 +0-7 =
(1) 0722 (@ 722

(3 720 4) 730

The coefficient of x2 in 3x%yz is

1) yz (2) 3y
3 3 (4) 3yz

The collection of all lines passing through a given point and a given curve is called

(1) ahyperboloid
(2) an ellipsoid
(3) ‘a cone

(4) acylinder

0
¥ 2 12 3, where a#0, then the value of a is
a-al
3
(1) 1 2) =2
1) | (2) 2
3 -1 4) 2

If x and y are directly proportional, then which of the following is true ?

(1) xy=k
(2) x=ky
3) x+y=k
4) x-y=k
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217.

- 28.

29.

30.

31.

32.

frfafigg o & B9 H99 T 7T 8 ?
1
(2) o AT A Q) o wahTEH A # |

T el a9 Y gH FATEH B B |

(3) SR T Yenat et <) Frye watrew g € |
4) < wHH Brge gaimaq g # |

5042 + 0-7 =

1) 0722 ' 2 722
3) 720 4) 17-30

3x2yz T x2 0 I[UTTEF 3
(1) | yz
3 3

(2)
(4)

3y
3yz

Qmaﬁ%@aﬁwwaﬁwﬁqwﬁiﬁaﬂtﬁﬁwwﬁwgém%

(1) xy=k
(2)
3) x+y=k
(4)
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33.

34.

35.

36.

37.

38.

The coefficient of x%in (x + 3)6 is
(1) 18 (2) 90
3) 135 ’ (4) 540

The product of all integers from — 5 to 5 is

(1) 14400 (2) —14400

3 0 (4) 120

An article is bought for ¥ 250 and is sold for  300. The gain percent is

(1) 20

250

(2) 3

(3) 60

4 —

The distance between the points (1, 2) and (2, - 3) is
(1) 6

(2 10

3 26

(4) 36

The number of axes of reflection symmetry of an equilateral triangle is

n 1 (2 0
@ 2 @ 3
Ol+11+21+3! =

1 9 @ 10
@ 6 - @ 5
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33.

34.

36.

36.

31

38.

x+3)0 F xt I B

1) 18 (2) 90

3) 135 (4) 540
_5% 5% % avft QUi 1 UEEA ]

(1) 14400 @) 14400
@ 0 4) 120

T 2501 @i T weg W T 300H ¥ f oA } 1w W yfrwd 9™ R

(1) 20

250

(2)
3

(8) 60

1) 6

@ 10

3) 26

4) 36

gTg By % wada aaiEfa el 6 wem @

1 1 2 0
3 2 4) 3
O+11+2143! =

@ 9 2 10

(3) 6 | 4) 5
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39. Which one of the following is a factor of 2x%2 —3x +1?
1) x+2 @ 2x-1
3 x+1 4 2x+1

40. How many teams of 4 persons can be chosen from a group of 8 persons ?
(1 32 (2) 70
(3 16 4) 2

41. 0-002 x 0-5 =
(1) 0-0001
(2) 0-01
(3) 0-001
4) 01

42, If 3 cubes each of side 4 cm are joined end-to-end, the surface area (in cm2) of the solid

so formed is
(1) 192
(2) 132
(3) 112
(4) 224

43. The distance of the point (5, 4) from y-axis is
1 1 (2 4
3) 5 4) 9

44. Which of the following numbers is farthest from the number 1 on the number line ?
(1) -10
(2) -5
3) 5
(4) 10
OMT-101 16 |



39.

40.

41.

43.

frrfad # & T 252 — 3x + 11 TH UGS 3 ?

1 x+2 @ 2x-1

@ x+1 4 2x+1

8 SIRFAl U Gg ¥ 4 =R B A H R alde § g T ERAR ?
(1 32 2 70

3) 16 4 2

0-002 x 0-5 =

1) 0-0001

2 001

3) 0-001

@ 01

aﬁ4ﬁ@n(gw)aﬁ3aﬁaﬁmﬁ@@w%,ﬁsammaﬁawm
e (A2 H) ?

1) 192

@ 132

3) 112

“4) 224

g G, ofyrmaghe

@ 1 @ 4

® 5 @ 9

FE a1 | et § § S9-d gen, @ 1§ sftean g W 2

1 -10

(2) -5

@ 5
4) 10
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45.

46.

47.

48.

49.

50.

A circle is inscribed in a square as shown below. If the radius of the circle is 4 cm,
then the perimeter of the square is

D
(1) 28cm (2) 24 cm
3) 32cm (4) 16cm

2 1 4

If P(A) = -:-3—, PB) = i3 and PAUB) = 5 then PANB) =

1 5
1) 3 (2) s

1 2

= 4) £
(3) = 4) 15

Anu bought 1000 shares of a company which pays 6% annual dividend of par value of
¥ 10 each. Anu’s annual dividend is

1) T 60 (2) ¥ 300
(3) <600 (4) < 500

Simple interest on ¥ 4,000 for 2 years at the rate of 9% is

1) T 720 (2) T 180

(3 T 800 (4 T 650

The area (in cm?) of a triangle with sides 6 cm, 5 cm and 5 cm is
1) 8 (2) 10

3) 12 4 15

One solution of the equation 2x -3y =9 is

@ (0,0 @ (%,—1)
@) (-1, -1 (4) (—1,”—313)

OMT-101 18



45.
aﬁemtr&mq'@n

N

@ﬁﬁ@@ﬁﬁmmﬁa%mmw% | afe g < e 4 3t R, @

2) - 24 At
4) 16Tt

%, WM PANB)=
(2)

(4)

Ko @l

¥ Y T ST F 1000 I TR I T&F T 10 F THIET W 6% A AT 3T R |

T 300
< 500

@
4)

< 180
T 650

(2)
(4)

(1) 289w
(3) 3s2aif
46. zri%P(A) 2 P(B)-—aﬂ'{P(AUB)
1
® 3
1
® =
47.
Y 1 e AW R
1) T 60
(3) T 600
48. T 4,000 W 298 % f9¢ 9% A W W w1 W
1) T 1720
(38) T 800
49. 6o, 5t 3k 5 Ayt ATt Py w1 Saee (¥ H) 2
1) 8
3) 12
50. GHIEAT 2x — 3y = 9 I TH & 8
1) (0,0
3) (-1, -1
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